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COST AND MANAGEMENT ACCOUNTING - I — HONOURS
Paper : CC-4.2 Ch
Full Marks : 80

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable. |

Group - A
1. A Lid. produces three joint products X, Y and Z. During a particular month, amount spent upto the
¢ split-off point for all the products was ¥ 3,00,000. The other relevant particulars were :
roa 3huh X Jear it old YR) ] ZR)
Post split-off costs o 40,000 30 000 o 20,000
= 4 . JH QLGLD :’ { Sa» R )
¥ o Sales value o 3 00 000 2 00 000 1 ,50,000
: St llmg anfi Blsmbut10n~expenses~ e 20 000" i 25,000“8$’ 16,000
Estlmated Proﬁt on sales B 20% # . 16%
X ¢k g !
G Yol sih e
ex& os; Pools and
243

Quantlty of
Cost Drivers

1,00,000. Number of Requis
2,00,000 Number of Sett ] ‘

3.00,000 Machine Hours

//y'* f do /«,H mean ul’/ Break-E ven Point’?

1 a pre ﬂ.lw;i,l total fixed cost 1s X 2,00,000. The proportion o

alk-Fven Point of th Lmhvl‘[twl 1
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Group - B

3. Sudipta Ltd. is currently operating at 50% capacity and produces 5,000 units at a cost of T 90 per unit,
the details of which are as follows :

4
Materials per unit 50
Wages per unit 15
Factory overhead (40% fixed) per unit 15

Administrative overhead (50% variable) per unit 10
Current selling price per unit 100
At 80% capacity, material cost per unit increases by 10% and selling price per unit falls by 5%.
Prepare Flexible budget showing total cost and profit at 50% and 80% capacity of production. Give your
answer with working notes. 10
4. The following information are available in respectrof Product ‘X’ :
Slandmd Labour %)urs and l}a‘te for Productlon of one unit :

3.00
1.00
1.50
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6. A manufacturing company has produced and sold 10,000 units of P, 7,000 units of Q and 5,000 units of
R during a year.

The following information are also available :

Particulars Per unit

P R
Variable cost (%) 10 18 16
Time Taken (Labour Hours) 5 6 5
Selling Price () 18 27 36

Fixed Cost (Total) ¥ 1,00,000

Due to shortage of labour, the available working hours for the next year are estimated to be only 45,000
labour hours. Suggest a suitable sales-mix and total profit for the next year when :

(a) There is enough demand for all the products.

YA J ;

) The potentlal demand is 4500 umts for 12 2500 umts for Q and 3000 units for R. 515
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Group - C

7. The sales and profits during two years were as given below :

Year les Profit )

2021 3,00,000 40,000

2022 3,40,000 50,000
You are required to compute :

(a) P/V Ratio

(b) Break-Even Point

(¢) Profit made when sales are ¥ 5,00,000

(d) Sales required to reach a profit of ¥ 25,000

(e) Margin of safety at a profit of ¥ 50,000. 15

8. From the following information calculate the overhead cost per unit of product P and Q on :
(a) Traditional method A ;

7

Method ﬁi,m 2900 1c T L 5+10

R i
‘Total ‘number of Total number of
?urchgse Orders Setups

5,000
4.10,000




